Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - WINTER- 2017

Subject Code:3351901 Date:02 -11 - 2017
Subject Name: Thermal Engineering-I1
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of steam table is permitted.

English version is authentic.
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Q1 Answer any seven out of ten. €2HIll SlEURL Ulclall scllol WL

1.  Draw PV and TS diagram with name of process(Mechanical and
thermodynamic) for CI engine.

U €25 YRAR ot ol (siSot@s wal HIZollsA) Add cl Reoyot
HI2 PV el TS slauauH €l

2. Why we need alternate fuels?
2. ARwlRol g wWollal AL HIR ABA?
3. Define ton of refrigeration
3. 2ot g WlxRalet ol cAVAL 2L
4.  Define coefficient of performance.
¥. SRAGBRAe wlls WShu @ cauvaul .
5. Name any four expansion device used in VCRS
U.  VCRS Hl oQycll SlEFURL UR AeUclel  (Scues ol ot QU
6.  Define Mean effective pressure (MEP)with mathematical equation
5. Mot AXdla Soewal ofl cauval 3l Aej oMLllAs YA cAlwl.
7. Define refrigerant
9. %o ol cauival .
8. What is Bypass factor in Air -conditioning
¢ WR-SRURSL ML ol 352 9 B.
9.  What is dew point temperature.
¢. S8 W&o cdlUuHlet 9 B.
10. Define Brake power.
0. A5 WaRr ol Y20 .
Q.2 (a) Differentiate between C.I .and S.1. Engine

s, () {lUE. el AW, Aot AR dlslade AL

OR
(@) Differentiate between two stroke cycle engine and four stroke cycle engine.

1) 2-ald ASIA ALBol Alal 512 B3 Al ABel ARAs
dstellcd st
1/3

14

03
03

03
03



‘03

Ud. 3

Q.4
UA. ¥

(b)
(W)

(b)
(¢)
(©
(8)

(©
(5)
(d)

(S)

(d)
(s)

(W)

(@)
(A)
(b)
(A1)

(b)
(¢)
(©)
(8)

(©)
(8)

(d)
(s)

(d)
(S)

(a)
(W)

Explain the working of window Air-conditioner

QoS AR soSl2letrell stlutu(a uHLAl.

OR
Explain the working of water cooler?

2R scRell stelutald wmestal.
Explain reversed Brayton cycle with PV and TS diagram.
R dalot WAS\A PV 1A TS stAUH EUR AHstal.

OR
List advantage and disadvantage of LPG as a fuel.

LPG ol ololct@l 3ol $l2AEl vl AR slauel €2l

Explain reasons for difference in actual and theoretical valve timing
diagram for petrol engine.

AR seslalall VA Aol HIZoll Auilds Aol Qs cieat atesHol

SLRALUH ML $81R oll sl seudl.

OR
Explain reasons for difference in actual and theoretical valve timing
diagram me for diesel engine.

AR seslallall Sl WAoot HIzoll AuliAs A clrd(ds clcet eleflat

SLRALUH HL %2512 oll 5100 wRuUA.

Write short note on
(i)C.O.P. (ii) Heat pump (iii)Compression ratio

() LA (i) Re Wau Giii) Sadtet 3{A

OR
Draw Vapor Absorption Refrigeration System.

AUR AoARWet §31%R2et ofl WSl ERL.
With diagram explain the working of simple carburetor.
ULEL slofRARell a9l AslAd €A A Aal AHstAl.

OR
List various systems of an I.C. engine.

.M AYotoll Qcllu Alwerxoll aLEl vlotlal.

What is scavenging in I.C. engine.

.. RAo2otHl Aol WA 9.
OR

Define Governor and classify the Governors with explaining any one.

AllalRell sauvat Ul Ao] ollswl AVl Wal 81 As

A,
State characteristic of commonly used Refrigerant.
Rl Rlogototl opRluMl  leudl.

OR
Define air conditioning. classify air conditioning systems.

AR soslaletRe{l cavall AL, AR soslallelol RRRIHEA oQBls1RRL

512\
What is Morse test.
W e 9 9.
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OR
How do you find B.H.P. in an I.C. Engine? Explain.

Draw schematic diagram of VCRS with name of each component.
VCRS oll 3R2ls slaalH €3] €8 Ueso] ollid Gl

OR
At 28°C dry bulb temperature and 760 mm of mercury atmospheric pressure,
the humidity ratio is 0.016 kg/kg of dry air. find
(1)partial pressure of water (2)relative humidity.

280 SLAGNCOL cllUMlet A 760 AR s WRsYRU clclaRRllel
scllall Bldcll 0.016 kgrkg (5.91L. /(5. L. AR &. AU (1)Wlle] HiRs

ELGALRL (2) ULUS:A Bl

A single cylinder Two stroke oil engine having following data:
Mean effective pressure = 3 bar
Cylinder diameter of the engine = 30 cm.
Length of piston stroke = 40 cm.
Engine Speed = 300 RPM.
Mechanical Efficiency OF the engine = 65 %
Calculate :- (i) Indicated Power in KW.
(i) Brake Power in KW

As Aol Aldlos2 ¢ s At AGRotall 32t oA Yxu &
Hlot 8%sdlat YR = 3 bar.

Woalotoll A Alosall cal = 30 cm.

Yot Asoll dolles = 40 cm.

ARl 2Uls = 300 RPM.

WloBotofl U Zellset e8tcl = 65 %

alRlddl 83 «(i) BoSlESS ULlCR KW HL.

(i) s WaR KW HL.
List the benefits of MPFI system.
MPFI f[eH oll statel sRual

Define the following terms
(1)Wet bulb temperature (2)degree of saturation

ol Aol UELL(l cautvul

1] A2 cleot dtudlet ] Slofl 2y AYratet

List the advantages of Compressed Natural Gas(CNG).
SIHYRAS (YR AU (CNG) ol sluel wRUA

Draw diagram of split air conditioner showing all components?

Re AR-53u60L llueH 2l uSld 128 aloll A AL
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